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Instructions for Candidates

1. Write your Roll. No. on the top immediately on receipt
of this question paper.

2. This questio’njpéper contains Eight questio.ns.
3, - Attempt any five -quésﬁons;_
4, Each_ques,tion "carries }eighteen marks.
5. Use of a'simplé calculator is allowed.

6. Answers may be written either in English or Hindj;
‘but the same medium should be used throughout the

paper.
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(a) Define the concept of user cost of capital. What |
are the components of user cost of capital? Use-
suitable examples to discuss why each is a cost of

using a capital good. = (12)
(b) Explain the factors ‘that affect the consumption

“and saving decisions. . e (6)
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2. (a) Macroeconomics has been des: e a
of aggregates. Examine the major 1

(12)
in macroeconomics. . :

ndi i ive
(b) ‘A Sﬁm of all the different expenditures W111tgare
| the GDP by the expenditure method.” Wha

' (6)
‘these expenditures? Discuss. |
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3. (a) Given the following information about the economy
of a country
C =100 + 0.75Y,
I =200
G=T=100

TR = 50

P.To.
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where G is the government expenditure on goods

and services, T is the lump sum tax and TR is

transfer payments.
(i) Find the equilibrium level of income.

(i1) Ca_lculate the governme‘n"t' expenditure
multiplier and transfer payment' multiplier.
What is the difference between the two?

- (111) If the full employment level of income is-
1600 crore, how much government

expendlture be 1ncreased to attain full:

(12)

employment? -'

(b) With the help of dlagram derive the savmg funct1on
- (6)

from the consumption functlon
W%ﬂﬁmﬁa@ﬂ%aﬁ?fﬁﬂﬁﬁﬁma |

¢ =100 + 0.75Y,
1 =200
G=T=100"
TR = 50
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4. (a)In Keynesian model discuss the effects of changes
in fiscal variables- increase. in government
purchases, reduction ‘in.‘the‘.ihcome tax rate and
an increase in the transfer payments, on the -
eqﬁilibri'um level of income. 4 | (12)

(B) The size of the investment muvitip_lier varies directly
with the size of the marginal propensity to consume
(MPC). Do you agree with: the statement? (6)
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- 5. (a) Define money. Discuss the functions of money

(6)

(b) Explain how equilibrium is determined in the money
- market. What happens to the equilibrium rate of
interest in the following situations? Use. suitable.
diagram. |
(i) Increase in nominal income.

(i1) ‘_Increa'se' 1n money‘suppl_y. | (12)
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6. (a) What are the preoa’utions one should c'onsider while
measurmg the national income of a country through
the value-added method? C s (9)

" (b) Cr1tlcally examme the Quantlty Theory of Money.
Does an 1ncrease in money supply always lead to

_a proportionate increase in prices? 9)
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£ (a) What do you mean by open market operations?

How does the central bank use open market

operations to control the money supply in the |
economy? (12)

(b) Calculate margmal propensuy to ‘consume and
marginal propen31ty to save from the following

schedule : (6)
Income’ Cbnsumption & MPC | MPS
(Crore) | - (Crore)
100 | - 85
200 | 160
300 | 235
400 | 310
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100 85 | i

200 160 ]
300 235
400 | 310

8. (a) What do y_o'u mean by .unintended ‘inventory
investment? Explain the situation when it becomes
negative and positive with the help- of diagram. -

)

(b) What is credit ‘creation? With the help of an
example explain how banks can create credit What

are the li‘mitations.'of.credit creation?, = (9)
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